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401 AlEHIZ 20| 98,000 0 98,000
01 Al&Hl 98,000 0 98,000
OMEIIRIGISY THAR AAE Q10 8%
70,000,000 70,000
OtHdietotsd EAY SJ]ATEAHE =8
28,000,000 28,000
A O=SH1E RAIEEE DS A 100,000 0 100,000
| 50,000
= 50,000
401 AIEHIZ 20| 100,000 0 100,000
| 50,000
= 50,000
01 Al&Hl 99,100 0 99,100
A O=2HERY RAISHE DHISA
99, 100,000 99,100
| 50,000
= 49,100
03 A& =201l 900 0 900
O &E =7 2dIEES UXHISAH 20
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MHISLER2SE RclSHESH WHIZA 900,000 0 900, 000
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= 450,000
401 AlEHIZ2OHB| 900,000 0 900,000
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= 450,000
01 Al&Hl 894,330 0 8%4,330
O HEBHSSH Q=2 DUTA
894,330,000& 894,330
| 450,000
= 444,330
03 A& =201l 5,670 0 5,670
O MESERSsE SAUBES WHBAH SULI
900,000,000 +0.63% 5,670
&E LOINSAIE OISEA HAEAY 100,000 0 100,000
401 AIEHIZ 2B 100,000 0 100,000
01 Al&Hl 100,000 0 100,000
O & LXNSAlE =2y HEAY
1&+%100,000,000& 100,000
MRES(2s221) 1,439,472 200,000 1,239,472
LHEHeHKIZ= 200,000 200,000 0
ZaN=REI IS S 100,000 100,000 0
J(VZAPIr=rSk=r= 100,000 100,000 0
01 JISdEZ2 100,000 100,000 0
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